.

The sum  of the reciprocals of the terms of  this sequence with m1  and  m2   as the first two terms is  given by 

S =    1 / { ( m1 – 1 )  ( m2 – 1 ) }  + 1/m1    +   1/m2  +1
Consider the  following product 

P  =  ( 1/m1  + 1/m12 + 1/ m13 +.  .  . ) (1/m2 + 1/m22 +1/m23 + .  .  .  )  

We have the sums of the geometric series with common ratio < 1

 P =  { (1/m1)/ ( 1 – 1/m1 ) }{  (1/m2)/ ( 1 – 1/m2) }

P = { 1/ ( m1 – 1 ) }{ 1/ ( m2 – 1 ) }

P =  1 / { ( m1 – 1 )  ( m2 – 1 ) }

 The same can also be written as   

              (
P =        (             1/ ( m1r*m2s )

          r , s = 1

              (
or P =    (       1/ Tn       -      1/T1    -   1/T2   - 1
            n = 1

              (
or P =    (       1/ Tn       -      1/m1    -   1/m2  - 1
            n = 1

P  =   S  -  1/m1  - 1/m2  + 1
Or  S  =  P  +  1/m1   +  1/m2  +1 
S =    1 / { ( m1 – 1 )  ( m2 – 1 ) }  + 1/m1    +   1/m2   +1
 For the case  m1 = 2 and m2 = 3  we have  S = 7/3.
